ZHEIRE REA
109 # R ESEHFpETEp # * 252 2 P &

- A 7 e 7 7 % ¥
e - 109 # & Z 2 £ A F I R F okt g 23

k5 109-024

1o 118 B ZHEARB R A

AR R 2 0 2 R 2 B 2 kiR - 170 5L

79 TNy (a2 Oy WB¥F3

o T 3,120 g ~ % pE &% (1,700 § ~

A (fEF) |24 T 05-5340415*240

T+ ER wi 8

PHLG T S § B2 WY A2 eg G mgEay Mle (0F kA
E 3R PET TR 2 F iR e P

- S [Eg R A R e E ]
FHEBIAFZ BN ARPI CT AR s ETRE SERAT jorE A s
Fies  RAPIRFRHBALPNEET o 2t BWET RN TS AR e e iE R
AEEDIIR ZPHLF s FAASMGA AT R I mAME FE > 3 A ey L FN
BRELRERZ ARBFEBLR o
Sl AR kg A iR
1. fprE g fyimp 3
fi KA AR 2 g *\%ﬁ%}“ ARG - 2 RER AR FRE B AR R e T
SR EHERT e ﬁﬂ WEIPR T 22 FHEZ LAY 2 MER%RL A KT IR
ﬁ%ﬁ%:&«?ﬁt‘i BAPIRFRBERFEFT o FEFFUREL TP T - FEA U
TRE RS g2 EEEEAR BT A TERE D LR ’—é;i*ﬁ A NN
D e o PREFREE B TR BN Ay A ITR Aasi?_%—é«
BERFILLF AL TREARRY KFLT R mEAEE L
FEPRILE 5 B R R B 42 )
2. "E’:“L‘l TR 4
ZHEB I EA TR RRL T RIS B2 A I IRE INRRI B R A4 2 ds
163 H A8 10358 52148 > 57 (75cpb a2 o
3. FFairA ko
PP E Y ?é*““%ﬂ”’* PR E IR AoP 2 P 2858 et F A - LRI PRR 23 % ~ Baldg
#1,0004m=c ~ B M FEEs T 4p B 10,0004m =0 ~ BB 040 7 H1,0004m ~ 7 A28~ 2 b R
#PR%:1,0004m=c ~ 7 $43R5000> ~ 7 FBF 15,0000 ~ T 5K T F3004 = 4o ek
Bl B - AP  FHARLT R LAPA0RS R AR KT PRS- B Y1E
Aok B £ 75000 ~ A FHk T G ki 1060,0004m % ~ - 742 A Tk F 5 8,0004m = 2 ¥ # 1,000
EEE dzt;ﬁw;}esﬁ%/éﬁvli% s AR A2REATHL0E K LR s F g 7 L T 9405 -
faddl 2B LB TS R
4, “Hp\pﬁﬁﬁ‘i” JTF oo
BEAPERGES PRk LR TH2
#f ~ NMHCHj £ 5 81702 ~ COV|j £ 5 296.01 2w > 7 § 2ec i
#v" FRRAEARLF ST FRARLHEE > Ea KB ARAE
ForRE s HHANELE -
= [”;‘ﬁﬂ%x«?iﬁﬂﬁ B * p iz ¢ * &17]:
TR LIRS Sy i A IR ARG 108 & 12 0 P e 109 & 28 &
R RERE PR R RP AR O BT ‘]f—'FF”’ *Z B E A
TEF &L F RS -

b

3T L PMst )R £ 5 3112
SRS RBL % F R
ﬁFfr F?'Fgﬁ“bwfﬁg_v;%#"



http://web1.gp.gov.tw/key/gov/fly_yperfor_new.html

